Functions
Homework 4
1.  The following sketch shows the graph of  f(x).


    Make separate sketches of the following graphs:
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. Make separate sketches of the following graphs:

(a) 
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(b) 
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(c) 
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3.   (a) Show that the function 
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 can be written in the form
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, where a, b and c are constants.


(3)
       (b) Hence, or otherwise, find the coordinates of the turning point of the 

             function f.
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4.   (a) Express 
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 in the form 
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 and write down the values of


a and b.
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      (b) State the minimum value of 
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and justify your answer.

(2)
5.
Find the coordinates of the points of intersection of the curve 
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 and the line 
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6.
Evaluate 
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